
Mathematics - Paper- IIA (Second year)

Time: 3 Hours         Max. Marks: 75

òÜMýSÛ̄ �æ & G
I. A°² {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ Æ>Ä¶æ$�yìl. {ç³�  {ç³Ô¶æ²MýS$ 2 Ð]l*Æý�$PË$. A±² A�  çÜÓËµ çÜÐ]l*«§é ]̄l {ç³Ô¶æ²Ë$.

       10´2 = 
20 M

1. –5+12i Ð]lÆý�YÐ]lÊË� MýS ]̄l$Vö ]̄l� yìl.
2. z = 7 21i+  Ð]l*ç³ BÄ¶æ*Ð]l$ Æý�*ç³� MýS ]̄l$Vö ]̄l� yìl. 

3. P A ó̄l z = x +iy, MýSÆý�×îæÄ¶æ$ çÜ�QÅ ]̄l$ çÜ*_çÜ$¢�¨. 
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 ç³NÇ¢V> AÐéçÜ¢Ð]l�  AÆ�¬�ól P 

¼�§ýl$ç³£ýl�  MýS ]̄l$Vö ]̄l� yìl.

4. ( )p q p q
, p q

p q p q
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  Ð]lÊÌêË$V> E ]̄l² Ð]lÆý�Y çÜÒ$MýSÆý�×ê°² MýS ]̄l$Vö ]̄l� yìl.

5. x3+2x2–4x+1 = 0 Ð]lÊÌêËMýS$ 3 Æð�r$Ï Ð]lÊÌêË$V> E ]̄l² ç³ÇÐ]lÆý�¢ ]̄l çÜÒ$MýSÆý�×æ�  MýS ]̄l$Vö ]̄l� yìl.
6. 0, 1, 2, 3, 4, 5 A�MðSË ]̄l$ G°²ÝëÆý�ÏÆ�¬¯é Eç³Äñæ*W�_ Æ>Ä¶æ$VýSÍVóS 5 A�MðSË çÜ�QÅË ]̄l$

MýS ]̄l$Vö ]̄l� yìl.

7. 21 27
n nC C=  AÆ�¬�ól 50
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 ÌZ x íÜ¦Æý�ç³§ýl ÑË$Ð]l MýS ]̄l$Vö ]̄l� yìl.

9. 3, 6, 10, 4, 9, 10 Ð]l$«§ýlÅÐ]l$�  ]̄l$�_ Ð]l$«§ýlÅÐ]l$ Ñ è̂lË ]̄l�  MýS ]̄l$Vö ]̄l� yìl.
10.P(X=1) = P(X = 2), AÆ�¬�ól P(X = 5) ÑË$Ð]l G��èl?

òÜMýSÛ¯�æ & ¼
II.HOÐðl¯é AÆ�¬§ýl$ {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ Æ>Ä¶æ$�yìl. {ç³�  {ç³Ô¶æ²MýS$ 4 Ð]l*Æý�$PË$. A±² çÜÓËµ çÜÐ]l*«§é ]̄l 
{ç³Ô¶æ²Ë$.  5´4 = 20 

M
11. 2+i, 4+3i, 2+5i, 3i ¯éË$VýS$ ÖÆ>ÛË$ è̂l�èl$Æý�{Ýë°² HÆý�µÆý�$Ýë¢Ä¶æ$° è̂l*ç³�yìl.

12. x ÐéçÜ¢Ð]l�  AÆ�¬�ól 
2 5 9

x

x x- +
ÑË$Ð]l –1/11, 1Ë Ð]l$«§ýlÅ E�r$�§ýl° è̂l*ç³�yìl.

13. MIXTURE ÌZ° A�ýSÆ>Ë�ø..
i)  X E ]̄l²
ii)  X Ìôæ° 4 A�ýSÆ>Ë ç³§éË ]̄l$ G°²�sìæ° Æ>Ä¶æ$Ð]l^øa �ðlËç³�yìl.



14.Hyýl$VýS$Æý�$ »êÅs�æÞÐðl$¯�æ, BÆý�$VýS$Æý�$ »oËÆý�$Ï, C§ýlªÆý�$ ÑMðSs�æ MîSç³Æý�Ï ]̄l$�_ C§ýlªÆý�$ ÑMðSs�æ MîSç³Æý�$Ï, 
]̄lË$VýS$Æý�$ »oËÆý�$Ï E�yólÑ«§ýl� V> ç³§ýlMö�yýl$ Ð]l$�¨ BrV>â¶æÏ ]̄l$ G°² Ñ«§éË$V> G� è̂l$MøÐ]l è̂l$a?

15. ( )
2

1 ( 2)

x

x x- -  ]̄l$ ´ë�ìSMýS À¯é²Ë$V> Ñ¿¶æh� è̂l�yìl. 

16. A, B, C A ó̄l Ð]lÊyýl$ VýS${Æ>Ë$ ´ùsîæÌZ E¯é²Æ�¬. A ´ùsîæÌZ ð̄lVóSY çÜ�¿êÐ]lÅ�èl B, MýS�sôæ 
Æð�sìæt� ç³#. B ´ùsîæÌZ ð̄lVóSY çÜ�¿êÐ]lÅ�èl C MýS�sôæ Æð�sìæt� ç³#. AÆ�¬�ól  A, B, C Ë$ Ð]lÆý�çÜV> ð̄lVóSY  
çÜ�¿êÐ]lÅ�èl G��èl?

17.JMýS çÜ�_ÌZ ç³ ð̄l²�yýl$ Æð��yýl$ Æý�*´ëÄ¶æ$Ë ¯é×ôæË$, Hyýl$ Æý�*´ëÆ�¬ ¯é×ôæË$, ¯éË$VýS$ AÆý�®
Æý�*´ëÆ�¬ ¯é×ôæË$¯é²Æ�¬. ÐésìæÌZ Ð]lÊyìl�sìæ° G ]̄l$²MýS$ ]̄l²ç³#yýl$
i) Ððl¬�èl¢�  VýSÇçÙt�
ii) ÑÆý�$§ýl® ¯é×ôæË$ E�yól çÜ�¿êÐ]lÅ�èl?

òÜMýSÛ̄ �æ & íÜ
III.HOÐðl¯é AÆ�¬§ýl$ {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ Æ>Ä¶æ$�yìl. {ç³�  {ç³Ô¶æ²MýS$ 7 Ð]l*Æý�$PË$. A±² ©Æý�� çÜÐ]l*«§é ]̄l 
{ç³Ô¶æ²Ë$. 5´7 = 35 M

18.(P+iQ)1/n + (P–iQ)1/n = 2 (P2+Q2)1/2n 11 Q
cos tan

n P
-é ù

ê úë û
  A° °Æý�*í³� è̂l�yìl.

19. x4+4x3–2x2 –12x+9 = 0 MýS$ Æð��yýl$ f�èlË Ð]lÊÌêË$ E�sôæ §é°² Ýë«¨� è̂l�yìl.
20. (1+x)n ÌZ rth, (r+1)th, (r+2)nd ç³§éË VýS$×æM>Ë$ A�MýS{Ôóæ×ìæÌZ E�sôæ 

n2–(4r +1)n+4r2–2 = 0 A° è̂l*ç³�yìl.

21.
1 1.3 1.3.5

x ....
5 5.10 5.10.15

= + + + +¥  AÆ�¬�ól 3x2+6x ÑË$Ð]l G��èl?

22. MìS�¨ ç³sìætMýS §éÓÆ> {MýSÐ]l$Ñ è̂lË ]̄l� , ÐólÇÄ¶æ$¯�æÞË ]̄l$ MýS ]̄l$Vö ]̄l� yìl.

�èlÆý�VýS�  A��èlÆý��  ´û ]̄l@ç³# ]̄lÅ�
30 - 40 3
40 - 50 7
50 - 60 12
60 - 70 15
70 - 80 8
80 - 90 3

90 - 100 2
23. çÜ�¿êÐ]lÅ�èl çÜ� MýSË ]̄l íÜ§é®��é°² °Æý�* í³� è̂l� yìl.



24.X ÐéÅí³¢  {0, 1, 2}, P(X=0) = 3c3, P(X=1) = 4c–10c2,

P (X=2) = 5c–1 AÆ�¬ ]̄lç³#µyýl$ 
i) c ÑË$Ð]l MýS ]̄l$Vö ]̄l� yìl
ii) P(X < 1),
    P(1 < X £2), P(0 < X £  3) ÑË$Ð]lË ]̄l$ MýS ]̄l$Vö ]̄l� yìl.


